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Ryugasaki first high school Shirahatw researchv 1 Mativdomain

71s+ 1grade B class

LA TION OF THE LENGTH OF BOARD AND THE PRICE 4th group
Author: Geebe Manase @W Shimada
~Modern Translation~ A.D.1673 Kota Sakbalashi
~Key Point~ VWil Shikamolo
I . You cut A wooD HAVE THE LENGTH OF 2XEN AND SQUARE OF Y. . @
AN EDGE OF 8%YN, |IF YOU ASSUME THAT THE PRICE OF CUTTING THE -Wood(Board) °

WOOD HAVE THE LENGTH OF 2XEN AND SQUARE OF AN EDGE OF ‘

1°HAKU 15 THE SILVER COINS OF 58Y ABOUT ONCE, HOW MUCH IS THE
PRICE?

ANSWER :1MONMEgBU

SoLUTION :WHEN YOU CUT IN 9 EQUAL PORTIONS, YOU WILL CUT IT
FOUR TIMES TWICE IN ONE DIRECTION BECAUSE IT BECOMES
BIDIRECTIONAL. IT BECOMES 3°HAKU2SUN gy puLTIPLYING THE 4 AND
8°UN TOGETHER. YOU CAN SOLVE THE QUESTION BY MULTIPLYING THE
PREVIOUS 3°HAKU2SUN AND THE PRICE OF CUTTING ONCE TOGETHER.

Charge: 9 oemi Salurai

~Modern Translation~

I . THERE IS A FIR BOARD WHICH 1s 1SHAKUSSUN \wipE AND THE
THICKNESS 1S 7°YN THICcK . YOU cUT THIS BOARD TO BE 78Y THICK AND
ASSUME THAT THE PRICE OF CUTTING BOARD ONCE IS THE SILVER COINS
OF 58Y, WHEN FOUR PIECES OF BOARDS ARE NECESSARY FOR 1KEN s
THE BOARD FOR SEVERAL KEN NECESSARY PER ONE GOLD ?

ANSWER : 14%EN of oNE piece oF 2°YN 1BY 42 wiTH ONE GoLD
SOLUTION :You DiviDE 7°YN By 78Y AND BECOME 100 PIECES OF
BOARDS WHEN YOU MULTIPLY TEN PIECES ON IT. YOU DIVIDE IT BY FOUR
PIECES AND BECOME 25.IN ADDITION, YOU ASSUME THE NUMBER OF
SHEETS OF ONE PIECE OF BOARD OF THE FIR FREE TEN PIECES. YOU RATE
FIVE MINUTES TO CUT IT FOR THIS AND BECOME 45MONME |1 prcoMES
0.75 WHEN YOU DIVIDE THIS BY 60 SPECULATION OF THE OVAL GOLD
COINS. YOU ADD ONE TEN PIECES OF PRICE TO THIS AND BECOME ONE
GOLD AND 0.75.1T BECOMES 14%EN oF 28571 WITH ONE GOLD IF YOU
DIVIDE 25%EN By THE PREVIOUS VALUE. IF YOU MULTIPLY 4 PIECES AND
THE RIGHT OF KEN TOGETHER, IT BECOMES A BOARD AND 18Y 4RIN 284,
IN ADDITION, YOU CAN SOLVE THE QUESTION IF YOU MULTIPLY THE RIGHT

OF MAI AND THE WIDTH OF A PIECE OF BOARD,1°HAKUSSUN,

Charge; 9t.umi Safuai

The silver coin of 5 N oemi Oakwrai
Cutting

~Mathemaltical~

Questionl

When you cut in 9 equal portions, you cut it
four times.

This wood is square of an edge of 1573 the
price of cutting the wood have the length of 2%e",
Because 4 X 0.8=3.2

This wood prices the silver coins of 5"
whenever You cut it once.

3.2X5=16 Because, the silver coin of

Jmonnme —the sjlver coin of 10°".

Answer is the silver coin of ]monnme gbu
Charge: 9anami So

Question”
There is a fir board which is 15"?%u 55t wide and the
thickness is 7% thick. There are ten pieces.
You cut them in 7°" equal portions.
70-—7X10=100
Four pieces of boards are necessary for 1%,
100~+—4=25(ken)
You cut nine times of one piece of board. There are
ten pieces of boards. 9 X 10=90
It takes silver 5%Y to cut a board. 90 X 0.5 =45
The speculation of the oval gold coin is 60.
45—60=0.75
1en pieces of price is 1'7°. 0.75+1=1.75(ryo)
25+—1.75=14.28571(ken)
You multiply a decimal by 4. 0.28571 X 4=1.14284

~History~ You bet 15h3xu55un wide on a decimal.
0.14284 X 15=2.142
~About the quality of Answer Is 14enmaizun 17442, Charge: Yanami So
the silver coin of the
Edo period ~ ~Summary - Issue In The Future~

Originally the silver coin
of the Edo period was a

~Summary~

The special formulas weren’t used 1n this

~[mpression~

We tound that the life of

high quality. question. Therefore, we had to solve the Edo period was involved

However ,it has become the daily question to devise addition, in math closely that we

money of bad qua/z ly to subtractlon: mgltlpllcatlon an.d division. tried  to  solve  this

publish high guality money We couldn t.thmk o.f ca.lculatl.ng numbers question for the first

in the reign of Tsunayoshi after the decimal pont in particular. time. To solve this
~/[ssue~

JTokugawa (n large
guantities because there

was }Zozt HONeEy, Besides, we also went through hardships to translate want to try another
Japanese 1nto English because we didn’t know many question.
Charge: Kota Jakahaski, Mikuwwn Shukamoto English words. Thus, we think that we should improve the

ability of English thoroughly from now on.

We went through hardships to solve this question because

we can’t use formulas. Thus, we lack the ability of applying.

question 1S precious

experience for us. We

Group leader: Jazuma Shimada



